VBS Aros
Torsdag med HCP 2021-10-14

Partavling, 9 bord, 18 par. Antal brickor: 24. Medel: 192.0.

Plac Par Poang % Namn MID Klubb
1 13 243.1 63.29  Maria Gron - Joérgen Lundberg 28267 7657  ABBBK
2 3 212.7 55.39  Elfride Bjorklund - Ingrid Eriksson 39828 28537 VBS Aros
3 2 209.7 54.61 Inga-Lill Stefansson - Amelie Sjoberg 60257 65537 VBS Aros
4 8 204.0 53.13  Britt Crofts - Siv Sédergren 37575 50437 VBS Aros
5 7 203.8 53.07  Kerstin Bengtsson - Solveig Johansson 48173 44109 VBS Aros
6 12 203.1 52.88  Sven-Ake Dahl - Ulf Clason 18727 81741 VBS Aros
7 14 203.0 52.86  Anita Adler - Inger Borgstrom 48160 24972 BK Orjan - VBS Aros
8 4 201.9 52.57  Jan Thornell - Vivianne Thornell 56368 56367 VBS Aros
9 1 191.7 49.93  Olle Backlund - Dilip Chawla 51798 26001 BK Orjan - VBS Aros
10 9 191.7 49.92  Asa Hégstrom - Margot Hiller Ohlsson 61972 32525 VBS Aros
11 17 189.3 49.29  Per Forsberg - Rolf Ohlsson 36060 32536 VBS Aros
12 16 181.9 47.36  Curt Nilsson - Barbro Nilsson 34219 89860 BK Orjan
13 15 181.3 47.21  Claes Nordstrém - Birgitta Nilsson 26230 81972 BK Orjan - Filbyter Bridge
14 11 180.4 46.99  Berit Lundberg - Inger Johansson 33006 36853 VBS Aros - BK Orjan
15 5 177.7 46.29  Lennart Undvall - Ingegerd Undvall 35994 35995 VBS Aros
16 6 170.0 44.28  Anita Aslund - Ragnhild Friborg 58102 39379 VBS Aros
17 18 167.1 43.50  Stig Bjorkdahl - Hans Larsson 59958 62568 VBS Aros
18 10 143.6 37.41  Ove Lindahl - Bengt Wignell 88926 85347 VBS Aros
1 «ED 2 4 K6432 3 4987654
Nord v D9653 Ost v D8652 Syd v K975
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&#ED107 #EKDKN832 &D8432
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
6 16 BNN+2 4T 460 140 20|12 11 54 N+1 vA 680 150 10| 8 4 3NO-2 *2 200 16.0 0.0
9 17 3NS+2 ¢7 460 140 20|13 1 44S+2 v4 680 150 10|15 3 24 N+1 ¢A 140 140 20
18 4 3NN+2 vJ 460 140 20|10 5 44S+1 A 650 11.0 50(16 7 24 N= ¢+Q 110 12.0 40
12 11 3NN+1 47 430 90 70(14 8 44S+1 +A 650 11.0 50| 1 12 3NO-1 *2 100 8.0 80
13 1 3NS+1 7 430 90 70| 9 17 54 S= ¢A 600 80 80(10 17 3NO-1 &4 100 8.0 8.0
15 2 4vy N= a7 420 6.0 100|15 2 3¢ V= *9 -110 6.0 100(13 2 3NO-1 3 100 8.0 80
7 3 3NS= ¢7 400 30 130 7 3 3vO= *A -140 40 120| 9 14 2v O+1 4A -140 4.0 120
10 5 3NS= ¢7 400 3.0 13.0(18 4 64DN-1 vA -200 20 14011 6 3NO= »2 -600 2.0 140
14 8 44S= ¢7 130 0.0 160| 6 16 64DN-2 vA -500 0.0 16.0{18 5 3NO+1 «A -630 0.0 16.0
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Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
16 7 2vy N+3 &8 200 16.0 00(13 3 44V-3 ¢6 150 16.0 00| 4 15 5¢DV-2 &#A 500 16.0 0.0
1 12 3¢ S+2 #) 150 13.0 30|16 8 3¢ O-2 «5 100 140 20(14 10 3NV-1 «9 100 13.0 3.0
18 5 2¢ S+3 #A 150 13.0 30| 2 1 44V-1 v6 50 90 70|17 11 3NV-1 «5 100 13.0 3.0
13 2 1¢ S+3 #A 130 9.0 70| 4 15 44 V-1 v3 50 90 70(12 7 2¢V= *A -90 100 6.0
15 3 2¢ S+2 #A 130 90 70 9 5 3¢0-1 *7 50 90 70| 9 5 2¢V+l #A -110 6.0 10.0
8 4 3¢ S= «A 110 50 11.0(17 11 3+ V-1 *2 50 90 7.0[13 3 2¢ V+l @#A -110 6.0 10.0
9 14 3¢ S= «A 110 50 110| 6 18 34 V+1 v6 -170 3.0 13016 8 2¢ V+1 #A -110 6.0 10.0
11 6 INV-1 v4 100 20 140(14 10 24 V+2 &2 -170 3.0 130 2 1 3NV= a5 -600 2.0 14.0
10 17 2¢ S= *A 90 0.0 160(12 7 3NDV= a2 -550 0.0 160| 6 18 3NO+1 &7 -630 0.0 16.0
7 473 8 41032 9 4 EKn972
Syd vKn10972 Vast vED2 Nord v K1093
Alla ¢+ EDKn108 Ingen ¢ D942 ov 2
*2 #743 #1073
41082 «D654 4 K54 &« DKn876 453 4 D10
vD3 v E864 v10964 K73 vE62 v DKn
¢K532 ¢7 ¢KKn ¢5 ¢ Kn85 + EKD764
#E876 #10943 #EK52 &DKn98 #Kn9864 &D52
« EKKn9 «E9 » K864
vK5 v Kn85 v 8754
+964 ¢ E108763 +1093
#KDKn5 #106 #EK
Par Kontr ut Res Poéang Par Kontr ut Res Poéang Par Kontr ut Res Poéang
13 4 3NS+2 2 660 16.0 00|10 6 3NO-4 +8 200 16.0 0.0|15 6 44 N+1 ¢A 450 16.0 0.0
15 5 3NS+1 #6 630 140 20(14 11 2v V-2 +9 100 140 20| 2 9 34 N= ¢A 140 120 4.0
3 2 3NS= 2 600 100 60|15 5 440-1 &T 50 100 6.0[{13 5 34 N= ¢A 140 12.0 40
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7 18 3NS= ¢2 600 100 60|16 9 44 0-1 v5 50 100 60|14 12 34 N= ¢A 140 120 4.0
14 11 3NS= &7 600 100 6.0(17 12 3NV-1 ¢2 50 100 60|11 7 3+ 0-1 &K 100 70 9.0
16 9 2NS+1 &7 150 6.0 100| 7 18 2NV = 2 -120 6.0 100|17 1 2¢ O-1 #A 100 70 9.0
10 6 24 S= ¢2 110 40 120(13 4 24 O+1 +A -140 40 12.0|10 16 1¢ O= 46 -70 40 120

1 8 3NS-1 *6 -100 10 150 3 2 24 0+2 A -170 20 140| 4 3 24 0= *A -90 1.0 15.0
17 12 4NS-1 *2 -100 10 150| 1 8 5¢DS-3 A -500 0.0 160(18 8 2¢ O= &A -90 1.0 15.0
10 & Kn632 11 ~E76 12 « 10965
Ost v43 Syd v Kn85 Vast v K3
Alla + K109754 Ingen + D6 NS ¢ Kn943

«10 #ED743 #Kn84
4 K75 + 104 4 D985 4K102 D7 « EKn8432
vDKn8765 vE102 vD3 v 9742 v D642 v5
¢+ E6 ¢ 82 ¢ K982 ¢ Kn743 +5 + KD6
+85 #EK9643 #1052 £96 #ED10762 #953
« ED98 4« Kn43 oK
v K9 v EK106 v EKn10987
¢ DKn3 ¢ E105 ¢ E10872
#DKn72 #KKn8 *K

Par Kontr ut Res Poéang Par Kontr ut Res Poéang Par Kontr ut Res Poang

4 3 24 S+1 ¢A 140 160 00|14 1 3NS+3 ¢2 490 160 00|13 6 3¢ S+2 +Q 150 160 0.0
13 5 3¢ N= vA 110 140 20| 2 17 3NS+2 +2 460 90 70|12 8 2vS+1 ¢5 140 140 20
15 6 3v V-1 «T 100 110 50| 5 4 3NS+2 +2 460 90 70| 3 10 5a«V-2 vK 100 120 40
18 8 3v V-1 «T 100 110 50|12 8 3NS+2 ¢2 460 90 70| 5 4 44 0-1 +A 50 90 7.0
17 1 29y V+3  #T -200 80 80(13 6 3NS+2 8 460 90 70(15 7 340-1 YA 50 90 70

2 9 3NS-4 v6 -400 6.0 100|116 11 3NS+2 8 460 90 70|16 11 4vS-1 *A -100 6.0 10.0
10 16 4v V= a2 -620 30 13.0(18 9 3NS+2 +8 460 90 70| 2 17 3aV= vK -110 40 120
11 7 4v V= +9 -620 3.0 130(15 7 3NS+1 &5 430 20 14018 9 44 S-2 a7 -200 20 14.0
14 12 3NS-7 v5 -700 0.0 160( 3 10 3« N+1 42 130 00 16014 1 5¢vDS-2 +¢5 -500 0.0 16.0
13 # Kn10982 14 #9875 15 « KD102
Nord v- Ost v 753 Syd v DKn82
Alla +96 Ingen + ED6 NS + K75

#EK10864 «D63 *K2
4ED63 4K 4 Kn3 « EK1062 4Kn94 476
v D65 v Kn9843 v 106 v EKD82 vK753 vE1064
¢ Kn842 ¢K1075 ¢ KKn1098 +¢ 4 ¢ E43 ¢ D62
*97 #D32 #EKn105 494 #EKnl10 #D754
4754 «D4 « E853
v EK1072 v Kn94 v9
¢ ED3 ¢ 7532 ¢ Kn1098
#Kn5 #K872 #9863

Par Kontr ut Res Poéang Par Kontr ut Res Poéang Par Kontr ut Res Poéang
18 10 44 N= ¢T 620 160 00| 1 9 440-1 &2 50 140 20| 2 10 2NV-3 oK 150 160 0.0
15 8 24 N+2 ¢7 170 140 20| 6 5 44 0-1 &2 50 140 20|11 18 24 N= «7 110 120 40

1 9 2NN+1 v3 150 110 50|18 10 3NV-1 a5 50 140 20|14 3 24 N= vA 110 120 4.0

7 13 2NS+1 #9 150 110 50(17 3 29 0+3 &2 200 100 6.0(15 9 24 N= vA 110 120 40

4 11 2#N+1 ¢7 110 6.0 100 4 11 3NV+1 9 -430 70 90| 5 12 2v V-2 «K 100 70 9.0

6 5 3&N= K 110 6.0 100|14 2 3NV+1 &6 -430 70 90|16 1 2vV-2 «T 100 70 9.0
16 12 24 N= v4 110 6.0 10.0| 7 13 3NV+2 &9 -460 20 140| 7 6 INO-1 &3 50 3.0 13.0
17 3 2NS-1 *2 -100 20 140(15 8 3NV+2 49 -460 20 140 8 13 2v V-1 oK 50 3.0 130
14 2 4vS-3 *2 -300 0.0 160(16 12 3NV+2 &6 -460 20 140|117 4 INO+1 3 -120 0.0 16.0
16 « K654 17 ~E3 18 # 108642
Vast v EK3 Nord v EKn9853 Ost v-
ov ¢ 32 Ingen + E865 NS + DKn106

#D953 &9 #EDKn3
«D9 « Kn82 «Knl074 «K98 «4E53  4KKn
vD10965 v8 v K62 v D104 v 87652 vKKn9
¢ Kn1096 ¢ EKD754 ¢ Knl0 ¢ K972 ¢+ K3 ¢ E98754
*E2 »864 #E1083 752 #1094 #65
«E1073 & D652 « D97
v Kn742 v7 vED1043
+8 ¢ D43 *2
#KKn107 #KDKn64 #K872

Par Kontr ut Res Poéang Par Kontr ut Res Poéang Par Kontr ut Res Poéang

7 6 2vV-2 ¢2 200 160 00|18 12 4y N= 8 420 160 00| 8 7 24 N+2 &6 170 160 0.0
11 18 34 N+1 ¢A 170 13.0 30| 3 11 2v N= ¢7 110 11.0 50(13 9 INV-3 «4 150 140 20
17 4 34 N+1 v8 170 130 30| 4 14 2y N= ¢9 110 110 50| 3 11 34 N= ¢A 140 100 6.0
14 3 34 S= ¢J 140 100 60|13 9 2¢vN-= ¢9 110 110 50| 4 14 3«4 N= &5 140 100 6.0
16 1 44 N-1 ¢ A -50 80 80(15 10 2v N= «8 110 11.0 50|15 10 24 N+1 4 140 100 6.0

2 10 3vS-2 *A -100 6.0 100| 6 1 3NN-1 ¢2 -50 6.0 100| 6 1 24 N= ¢A 110 6.0 10.0

8 13 3¢ O+1 aA -130 40 120 8 7 3NS-2 a4 -100 30 130(16 2 3v V-2 «A 100 40 120
15 9 3vS-3 +9 -150 20 14017 5 4y N-2 &7 -100 3.0 130(18 12 3¢ O-1 &7 50 20 14.0

5 12 3vyDS-2 ¢J -300 00 160|116 2 3NS-3 a4 -150 00 16017 5 34 N-1 &6 -100 0.0 16.0
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19 « KD4 20 # EK5 21 « D107
Syd v D42 Vast vK72 Nord v53
ov ¢ EDKn Alla + K82 NS ¢ ED10943
#9852 #Kn652 &73
4E103 4872 4 D1097 a- « EKKN943 482
v1076 vKn85 vEDKn108 v954 v EK4 v Kn862
410932 ¢ K864 ¢+ 94 + DKn10753 ¢ K82 +75
D106 &KKn7 *K3 #ED87 &9 #D10852
 Kn965  Kn86432 465
v EK93 v 63 vD1097
¢+ 75 ¢+ E6 + Kn6
&E43 #1094 #EKKn64
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr Ut Res Poang
4 12 3NN+1 ¢4 430 120 40|11 15 4v V-2 «A 200 150 10|13 11 34 V-2 v5 100 150 1.0
5 14 3NN+1 38 430 120 4.0|13 10 24 V-2 &2 200 150 10|17 7 44 V-2 ¢A 100 150 1.0
13 10 3NS+1 a3 430 120 40| 9 8 24 S= ¢+4 110 120 4.0|12 15 34 V-1 &7 50 11.0 5.0
17 6 3NN+1 ¢4 430 120 40| 5 14 4v V-1 «A 100 90 70(16 4 3s4V-1 ¢+ A 50 11.0 5.0
18 1 3NN+1 ¢4 430 120 40| 7 2 4v V-1 L Y 100 90 70| 5 1 24V= v5 -110 6.0 10.0
7 2 29S+42  ¢2 170 6.0 100(16 3 34 S-1 +9 -100 6.0 100 8 3 24 V= ¢ A -110 6.0 10.0
11 15 24 S+1 v6 140 3.0 130|177 6 2vV+1l A -140 30 13.0(18 2 24 V= v5 -110 6.0 10.0
16 3 2vS+1 &A 140 30 130|18 1 2vyV+l &5 -140 30 13010 9 3a V= ¢ A -140 1.0 15.0
9 8 4vS-3 *6 -150 0.0 16.0| 4 12 3v V+1l &A -170 00 16.0|14 6 24 V+1 ¢A -140 1.0 15.0
22 « DKn974 23 « KKn84 24 443
Ost vKD Syd v10 Vast v 963
()Y 4762 Alla 41083 Ingen ¢ EKKn987
#KKn5 #E10965 & KKn
&K  E863 4 E3 4 D1065 4 KD9752 4 Kn86
v 108765 vE3 vKDKn954 vE72 vKnl0 v E8742
+ D10 + KKn83 + D965 + Kn42 + D10 2
#D9732 #1064 3 +D42 #D105 #E963
#1052 972 «E10
v Kn942 v 863 v KD5
¢ E954 ¢ EK7 46543
&E8 &KKn87 #8742
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr Ut Res Poang
13 11 2NV-3 «Q 300 150 10|11 10 4v V-2 *9 200 160 00| 5 16 4¢ N= 46 130 150 1.0
14 6 3NO-3 a2 300 150 10| 6 2 4v V-1 «A 100 11.0 50|11 10 3¢ N+1 vA 130 150 1.0
5 1 INV-2 a7 200 120 40| 9 4 4v V-1 T 100 11.0 50|14 7 34V-2 ¢A 100 120 4.0
10 9 24 N= vA 110 80 80|12 13 3v V-1 «A 100 11.0 50| 6 2 44 V-1 v9 50 90 7.0
16 4 24 N= +8 110 80 80|17 8 3v V-1 &5 100 11.0 5017 8 4a V-1 *A 50 9.0 7.0
18 2 14 N+1 vA 110 80 80| 5 16 2¢v V+1 3 -140 40 120| 9 4 5¢ N-1 *A -50 50 11.0
12 15 INV-1 a7 100 40 120(15 1 29 V+1l T -140 40 120|12 13 4¢ N-1 aJ -50 5.0 11.0
8 3 INS-1 v7 -50 1.0 150(18 3 2¢vyV+1l T -140 40 120(18 3 34 V= ¢A -140 20 140
17 7 34 N-1 v3 -50 1.0 150(14 7 34 N-2 vA -200 00 16.0|15 1 34 V+1l +A -170 0.0 16.0
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